

1. (a)  $\frac{2x}{(x+3)(3x+1)} = \frac{A}{x+3} + \frac{B}{3x+1}$

(b)  $\frac{1}{x^3+2x^2+x} = \frac{1}{x(x^2+2x+1)} = \frac{1}{x(x+1)^2} = \frac{A}{x} + \frac{B}{x+1} + \frac{C}{(x+1)^2}$

3. (a)  $\frac{x^4+1}{x^5+4x^3} = \frac{x^4+1}{x^3(x^2+4)} = \frac{A}{x} + \frac{B}{x^2} + \frac{C}{x^3} + \frac{Dx+E}{x^2+4}$

(b)  $\frac{1}{(x^2-9)^2} = \frac{1}{[(x+3)(x-3)]^2} = \frac{1}{(x+3)^2(x-3)^2} = \frac{A}{x+3} + \frac{B}{(x+3)^2} + \frac{C}{x-3} + \frac{D}{(x-3)^2}$

7.  $\int \frac{x}{x-6} dx = \int \frac{(x-6)+6}{x-6} dx = \int \left(1 + \frac{6}{x-6}\right) dx = x + 6 \ln|x-6| + C$

11.  $\frac{1}{x^2-1} = \frac{1}{(x+1)(x-1)} = \frac{A}{x+1} + \frac{B}{x-1}$ . Multiply both sides by  $(x+1)(x-1)$  to get  $1 = A(x-1) + B(x+1)$ .

Substituting 1 for  $x$  gives  $1 = 2B \Leftrightarrow B = \frac{1}{2}$ . Substituting  $-1$  for  $x$  gives  $1 = -2A \Leftrightarrow A = -\frac{1}{2}$ . Thus,

$$\begin{aligned} \int_2^3 \frac{1}{x^2-1} dx &= \int_2^3 \left( \frac{-1/2}{x+1} + \frac{1/2}{x-1} \right) dx = \left[ -\frac{1}{2} \ln|x+1| + \frac{1}{2} \ln|x-1| \right]_2^3 \\ &= \left( -\frac{1}{2} \ln 4 + \frac{1}{2} \ln 2 \right) - \left( -\frac{1}{2} \ln 3 + \frac{1}{2} \ln 1 \right) = \frac{1}{2}(\ln 2 + \ln 3 - \ln 4) \quad \left[ \text{or } \frac{1}{2} \ln \frac{3}{2} \right] \end{aligned}$$

17.  $\frac{4y^2-7y-12}{y(y+2)(y-3)} = \frac{A}{y} + \frac{B}{y+2} + \frac{C}{y-3} \Rightarrow 4y^2-7y-12 = A(y+2)(y-3) + By(y-3) + Cy(y+2)$ . Setting

$y=0$  gives  $-12 = -6A$ , so  $A=2$ . Setting  $y=-2$  gives  $18 = 10B$ , so  $B = \frac{9}{5}$ . Setting  $y=3$  gives  $3 = 15C$ , so  $C = \frac{1}{5}$ .

Now

$$\begin{aligned} \int_1^2 \frac{4y^2-7y-12}{y(y+2)(y-3)} dy &= \int_1^2 \left( \frac{2}{y} + \frac{9/5}{y+2} + \frac{1/5}{y-3} \right) dy = \left[ 2 \ln|y| + \frac{9}{5} \ln|y+2| + \frac{1}{5} \ln|y-3| \right]_1^2 \\ &= 2 \ln 2 + \frac{9}{5} \ln 4 + \frac{1}{5} \ln 1 - 2 \ln 1 - \frac{9}{5} \ln 3 - \frac{1}{5} \ln 2 \\ &= 2 \ln 2 + \frac{18}{5} \ln 2 - \frac{1}{5} \ln 2 - \frac{9}{5} \ln 3 = \frac{27}{5} \ln 2 - \frac{9}{5} \ln 3 = \frac{9}{5}(3 \ln 2 - \ln 3) = \frac{9}{5} \ln \frac{8}{3} \end{aligned}$$

23.  $\frac{5x^2+3x-2}{x^3+2x^2} = \frac{5x^2+3x-2}{x^2(x+2)} = \frac{A}{x} + \frac{B}{x^2} + \frac{C}{x+2}$ . Multiply by  $x^2(x+2)$  to

get  $5x^2+3x-2 = Ax(x+2) + B(x+2) + Cx^2$ . Set  $x=-2$  to get  $C=3$ , and take

$x=0$  to get  $B=-1$ . Equating the coefficients of  $x^2$  gives  $5 = A+C \Rightarrow A=2$ . So

$$\int \frac{5x^2+3x-2}{x^3+2x^2} dx = \int \left( \frac{2}{x} - \frac{1}{x^2} + \frac{3}{x+2} \right) dx = 2 \ln|x| + \frac{1}{x} + 3 \ln|x+2| + C.$$

$$\begin{aligned}
 29. \int \frac{x+4}{x^2+2x+5} dx &= \int \frac{x+1}{x^2+2x+5} dx + \int \frac{3}{x^2+2x+5} dx = \frac{1}{2} \int \frac{(2x+2) dx}{x^2+2x+5} + \int \frac{3 dx}{(x+1)^2+4} \\
 &= \frac{1}{2} \ln|x^2+2x+5| + 3 \int \frac{2 du}{4(u^2+1)} \quad \left[ \begin{array}{l} \text{where } x+1=2u, \\ \text{and } dx=2 du \end{array} \right] \\
 &= \frac{1}{2} \ln(x^2+2x+5) + \frac{3}{2} \tan^{-1} u + C = \frac{1}{2} \ln(x^2+2x+5) + \frac{3}{2} \tan^{-1} \left( \frac{x+1}{2} \right) + C
 \end{aligned}$$

$$35. \frac{1}{x(x^2+4)^2} = \frac{A}{x} + \frac{Bx+C}{x^2+4} + \frac{Dx+E}{(x^2+4)^2} \Rightarrow 1 = A(x^2+4)^2 + (Bx+C)x(x^2+4) + (Dx+E)x. \text{ Setting } x=0$$

gives  $1 = 16A$ , so  $A = \frac{1}{16}$ . Now compare coefficients.

$$\begin{aligned}
 1 &= \frac{1}{16}(x^4+8x^2+16) + (Bx^2+Cx)(x^2+4) + Dx^2+Ex \\
 1 &= \frac{1}{16}x^4 + \frac{1}{2}x^2 + 1 + Bx^4 + Cx^3 + 4Bx^2 + 4Cx + Dx^2 + Ex \\
 1 &= \left(\frac{1}{16} + B\right)x^4 + Cx^3 + \left(\frac{1}{2} + 4B + D\right)x^2 + (4C + E)x + 1
 \end{aligned}$$

So  $B + \frac{1}{16} = 0 \Rightarrow B = -\frac{1}{16}$ ,  $C = 0$ ,  $\frac{1}{2} + 4B + D = 0 \Rightarrow D = -\frac{1}{4}$ , and  $4C + E = 0 \Rightarrow E = 0$ . Thus,

$$\begin{aligned}
 \int \frac{dx}{x(x^2+4)^2} &= \int \left( \frac{\frac{1}{16}}{x} + \frac{-\frac{1}{16}x}{x^2+4} + \frac{-\frac{1}{4}x}{(x^2+4)^2} \right) dx = \frac{1}{16} \ln|x| - \frac{1}{16} \cdot \frac{1}{2} \ln|x^2+4| - \frac{1}{4} \left( -\frac{1}{2} \right) \frac{1}{x^2+4} + C \\
 &= \frac{1}{16} \ln|x| - \frac{1}{32} \ln(x^2+4) + \frac{1}{8(x^2+4)} + C
 \end{aligned}$$

41. Let  $u = \sqrt{x}$ , so  $u^2 = x$  and  $dx = 2u du$ . Thus,

$$\begin{aligned}
 \int_9^{16} \frac{\sqrt{x}}{x-4} dx &= \int_3^4 \frac{u}{u^2-4} 2u du = 2 \int_3^4 \frac{u^2}{u^2-4} du = 2 \int_3^4 \left( 1 + \frac{4}{u^2-4} \right) du \quad [\text{by long division}] \\
 &= 2 + 8 \int_3^4 \frac{du}{(u+2)(u-2)} \quad (*)
 \end{aligned}$$

Multiply  $\frac{1}{(u+2)(u-2)} = \frac{A}{u+2} + \frac{B}{u-2}$  by  $(u+2)(u-2)$  to get  $1 = A(u-2) + B(u+2)$ . Equating coefficients we

get  $A + B = 0$  and  $-2A + 2B = 1$ . Solving gives us  $B = \frac{1}{4}$  and  $A = -\frac{1}{4}$ , so  $\frac{1}{(u+2)(u-2)} = \frac{-1/4}{u+2} + \frac{1/4}{u-2}$  and (\*) is

$$\begin{aligned}
 2 + 8 \int_3^4 \left( \frac{-1/4}{u+2} + \frac{1/4}{u-2} \right) du &= 2 + 8 \left[ -\frac{1}{4} \ln|u+2| + \frac{1}{4} \ln|u-2| \right]_3^4 = 2 + \left[ 2 \ln|u-2| - 2 \ln|u+2| \right]_3^4 \\
 &= 2 + 2 \left[ \ln \left| \frac{u-2}{u+2} \right| \right]_3^4 = 2 + 2 \left( \ln \frac{2}{6} - \ln \frac{1}{5} \right) = 2 + 2 \ln \frac{2/6}{1/5} \\
 &= 2 + 2 \ln \frac{5}{3} \text{ or } 2 + \ln \left( \frac{5}{3} \right)^2 = 2 + \ln \frac{25}{9}
 \end{aligned}$$

45. If we were to substitute  $u = \sqrt{x}$ , then the square root would disappear but a cube root would remain. On the other hand, the substitution  $u = \sqrt[3]{x}$  would eliminate the cube root but leave a square root. We can eliminate both roots by means of the substitution  $u = \sqrt[6]{x}$ . (Note that 6 is the least common multiple of 2 and 3.)

Let  $u = \sqrt[6]{x}$ . Then  $x = u^6$ , so  $dx = 6u^5 du$  and  $\sqrt{x} = u^3$ ,  $\sqrt[3]{x} = u^2$ . Thus,

$$\begin{aligned} \int \frac{dx}{\sqrt{x} - \sqrt[3]{x}} &= \int \frac{6u^5 du}{u^3 - u^2} = 6 \int \frac{u^5}{u^2(u-1)} du = 6 \int \frac{u^3}{u-1} du \\ &= 6 \int \left( u^2 + u + 1 + \frac{1}{u-1} \right) du \quad [\text{by long division}] \\ &= 6 \left( \frac{1}{3}u^3 + \frac{1}{2}u^2 + u + \ln|u-1| \right) + C = 2\sqrt{x} + 3\sqrt[3]{x} + 6\sqrt[6]{x} + 6 \ln|\sqrt[6]{x} - 1| + C \end{aligned}$$

63. By long division,  $\frac{x^2+1}{3x-x^2} = -1 + \frac{3x+1}{3x-x^2}$ . Now

$$\frac{3x+1}{3x-x^2} = \frac{3x+1}{x(3-x)} = \frac{A}{x} + \frac{B}{3-x} \Rightarrow 3x+1 = A(3-x) + Bx. \text{ Set } x=3 \text{ to get } 10 = 3B, \text{ so } B = \frac{10}{3}. \text{ Set } x=0 \text{ to}$$

get  $1 = 3A$ , so  $A = \frac{1}{3}$ . Thus, the area is

$$\begin{aligned} \int_1^2 \frac{x^2+1}{3x-x^2} dx &= \int_1^2 \left( -1 + \frac{1}{3} + \frac{\frac{10}{3}}{3-x} \right) dx = \left[ -x + \frac{1}{3} \ln|x| - \frac{10}{3} \ln|3-x| \right]_1^2 \\ &= \left( -2 + \frac{1}{3} \ln 2 - 0 \right) - \left( -1 + 0 - \frac{10}{3} \ln 2 \right) = -1 + \frac{11}{3} \ln 2 \end{aligned}$$